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230. FINANCIAL AND COST
ACCOUNTING

December ]                                        [ Time : 3 Hours

Maximum  :  100  Marks

SECTION – A  (10 × 2 = 20)

Answer any TEN questions.
ALL questions carry EQUAL marks.

1.   (a) Trial Balance.

(b) Double Entry Book Keeping.

(c) Capital Fund.

(d) Current Liabilities.

Turn Over

ƒˆ¬Ô‚¶_Ô^ :

(∂) ÷Æ]fl ƒ´¬˛Ú©A  35,000.

(g) ÷BÕ]´D \uÆD, \Á™› mÁ© ÿ√VÚ‚Ô^

*m 10 ƒ>T>D º>F\V™D ÿƒFÔ.

(÷) ÿÔV|√¶ ºkıΩB Ìo  1,500.

(~) x[Ì‚ΩºB ÿƒK›]B s·D√´ Ô‚¶D

 500

(c) Ô¶™VπÔ^ *m kV´V¬ Ô¶[ ÔV©∏uz

5% Œm¬zÔ.
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(e)Depreciation Fund.

(f)Costing.

(g) Economic Ordering Quantity.

(h) Overhead.

(i) Drawings.

(j) Intangible Assets.

(k) Danger level of stock.

(l) Gross Profit.

SECTION – B (4 × 10 = 40)

Answer any FOUR questions.
ALL questions carry EQUAL marks.

2.Explain different elements of total cost.

3.What is idle time? Give its treatment in cost
accounts.

4.What are the causes of depreciation?

5.Explain the importance of double entry book
keeping.

2

÷BÕ]´D40,000

k´suzˆB

cıΩB_6,000

g´D√ ƒ´¬˛Ú©A40,000

ÿÔV^x>_51,000

Ìo26,000

ÿkπfl∑Á\ Ìo500

c^∑Á\ Ìo1,000

ª]BD35,000

kV¶ÁÔ3,000

>^”√Ω1,100

√øm √VÏ©A2,300

k∫˛25,000

ÿ´V¬ÔD1,600

Ô¶™VπÔ^45,000

kV´V¬Ô¶[1,200

su√Á™› ]Ú©√D2,000

\Á™› mÁ©

ÿ√VÚ‚Ô^6,000

s·D√´D3,500

ÿ√Vmfl ÿƒÈ°Ô^450

4,85,6504,85,650
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6. A firm purchased plant on 1st January, 2010
for  10,000 and paid erection charges of

 2,000. Prepare plant account for three years
charging depreciaton at 10% per annum under

(i) Straight line method

and (ii) Diminishing balance method.

7. From the following particulars, prepare stores
ledger account showing the pricing of material
issue under simple average method.

December, 1 Opening stock 500 units at
 2 each.

December, 3 Purchased 400 units at
 2·10 each

December, 5 Issued 600 units

December, 7 Purchased 800 units at
 2·40 each

December, 9 Issued 500 units.

December, 12 Purchased 400 units at
 2·50 each

December, 25 Issued 600 units.

3
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10. A  \uÆD,  B  g˛B ÿ√VÚ‚Ô^ ŒÚ WÆ\›]_

ˇµ¬Ôı¶ WÁÈÔπ_ √B[√|›>©√|˛[≈m.

∂]Ô √‚ƒ √B[√V| 200 ∂ÈzÔ^ ŒÚ

kV´›]uz

zÁ≈Õ> √‚ƒ √B[√V| 60 ∂ÈzÔ^ ŒÚ

kV´›]uz

\Æ gÁ ∂·° A - 900 ∂ÈzÔ^

B - 1100 ∂ÈzÔ^

\Æ gÁ¬ ÔVÈD A - 3 x>_ 6 kV´∫Ô^

B - 2 x>_ 4 kV´∫Ô^

(∂) ∂]Ô √‚ƒ ∂·°

(g) zÁ≈Õ> √‚ƒ ∂·°

\uÆD,   (÷) \Æ gÁ ∂·° g˛B kuÁ≈¬

Ô¬˛¶°D.

11. ]Ú.  ∂ÚVflƒÈ›][ ∏[kÚD ÷Ú©A

√‚ΩB_ÔπoÚÕm 31- 12-2003á÷_ xΩ•D

gıΩuÔV™ sBV√V´¬ Ô¬˛Á™•D ÷ÈV√ Â‚¶¬

Ô¬˛Á™•D ∂› º>]l[ √Ω•^· ÷Ú©A WÁÈ¬

z§©∏Á™•D >BVÏ ÿƒFÔ.

®|©A Ô/z 45,000

Â[\]©A 90,000

Ô‚Ω¶D 60,000
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SECTION – C (2 × 20 = 40)

Answer any TWO questions.
ALL questions carry EQUAL marks.

8.Differentiate between Receipts and Payments
Account and Income and Expenditure Account.

9.What do you understand by absorption of
overheads? Discuss the various methods of
absorption.

10.Material A and B are used in a company on
the following basis :

Maximum usage 200 units per week each.

Minimum usage 80 units per week each.

Normal usage 140 units per week each.

Re-Order quantity – A - 900 units

        – B - 1,100 Units

Re-order period   - A - 3 to 6 weeks;

        - B - 2 to 4 weeks;

4

7.ˇºw >´©√‚|^· sk´∫ÔπoÚÕm, ÿ√VÚ^

ÿkπl|Dÿ√Vøm ÔÁ¶∏Ω¬Ô ƒV>V´ ƒ´Vƒˆ

xÁ≈l_ ƒ´¬z \uÆD, º√º´‚ΩÁ™ >BVˆ¬Ô°D.

ΩƒD√Ïá1ÿ>V¶¬Ô ƒ´¬˛Ú©A  2 T>D

500 ∂ÈzÔ^.

       3ÿÔV^x>_  2·10 T>D

400 ∂ÈzÔ^.

       5ÿkπX| 600 ∂ÈzÔ^.

       7ÿÔV^x>_  2·40 T>D

800 ∂ÈzÔ^.

       9ÿkπX| 500 ∂ÈzÔ^.

       12ÿÔV^x>_  2·50 T>D

400 ∂ÈzÔ^.

       25ÿkπX| 600 ∂ÈzÔ^.

√z] ä  ÷ √z] ä  ÷ √z] ä  ÷ √z] ä  ÷ √z] ä  ÷( 2 $ 20 = 40)

∞º>–D  ÷´ı| ÷´ı| ÷´ı| ÷´ı| ÷´ı| s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

8.ÿ√Æ>_Ô^, ÿƒK›m>_Ô^ Ô¬˛uzD, kÚkVl™

ÿƒÈs™ Ô¬˛uzx^· ºkÆ√V|ÔÁ·¬ ÌÆÔ.

9.√Ë º\uÿƒÈ°ÔÁ· *‚√m ®[≈V_ ®[™?

√Ëº\u ÿƒÈ°ÔÁ· *‚zD √_ºkÆ kaxÁ≈ÔÁ·

skˆ¬Ô°D.
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Calculate :

(a) Maximum level

(b) Minimum level

and (c) Re-order level

11. Prepare a Trading and Profit and Loss Account
for the year ended 31st December, 2003 and a
Balance Sheet as on that date from the following
Trial Balance of Mr. Arunachalam :

Drawings 45,000 Capital 1,60,000

Goodwill 90,000 Bills Payable 35,000

Buildings 60,000 Creditors 70,000

Machinery 40,000 Purchase returns 2,650

Bills receivable 6,000 Sales 2,18,000

Opening Stock 40,000

Purchases 51,000

Wages 26,000

Carriage
outwards 500

Carriage inwards 1,000

Salaries 35,000

Turn Over

5

√z] ä  g√z] ä  g√z] ä  g√z] ä  g√z] ä  g ( 4 $ 10 = 40)

∞º>–D  ÂV[zÂV[zÂV[zÂV[zÂV[z s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m∂Á™›m∂Á™›m∂Á™›m∂Á™›m s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

2. ÿ\V›> ∂¶¬ÔsÁÈ Ô¬˛BoK^· √_ºkÆ

ÌÆÔÁ· skˆ.

3. √B™u≈ ÔVÈD ®[≈V_ ®[™? ÷m ®ÀkVÆ

∂¶¬ÔsÁÈ Ô¬˛_ ÔV‚¶©√|˛≈m?

4. º>F\V™›]uÔV™ ÔV´∫Ô^ BVÁk?

5. ÷´‚Á¶ √]ºk‚| xÁ≈l[ x¬˛B›mk›Á>

s·¬zÔ.

6. ŒÚ WÆk™D ¤™kˆ á 1, 2010 ∂[Æ  10,000á¬z

ÿ√V§ kV∫˛Bm.  ∂Á> WÏ\VD ÿƒFB

 2000 ÿƒÈ° ÿƒF>m.  gıΩuz 10 ƒ>T>D

º√ˆ_ º>F\V™D Ô¬˛‚|, ˇµ¬Ôı¶ xÁ≈l_

ÿ√V§ Ô¬˛Á™ J[Æ gı|Ô”¬z

>BVˆ¬Ô°D.

(∂) ºÂÏºÔV‚| xÁ≈

\uÆD, (g) zÁ≈Õm ÿƒ_ \]©A xÁ≈.

8
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Rent3,000

Discount1,100

Repairs2,300

Bank25,000

Cash1,600

Debtors45,000

Bad debts1,200

Sales returns2,000

Furniture6,000

Advertisements3,500

General expenses450

4,85,6504,85,650

Adjustments:

(i)Closing stock was  35,000.

(ii)Depreciate Machinery and Furniture by
10%.

(iii)Outstanding wages  1,500.

(iv)Prepaid Advertisement  500.

(v)Create 5% on debtors for bad debts as
provision.

67

>twV¬ÔD >twV¬ÔD >twV¬ÔD >twV¬ÔD >twV¬ÔD

√z] ä  ∂ √z] ä  ∂ √z] ä  ∂ √z] ä  ∂ √z] ä  ∂( 10 $ 2 = 20)

∞º>–D  √›m √›m √›m √›m √›m s™V¬Ô”¬z sÁ¶Bπ¬Ô.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\ ƒ\ ƒ\ ƒ\ ƒ\ \]©ÿ√ıÔ^.

1.EÆ z§©A kÁ´Ô:

(∂)÷Ú©A ºƒV>Á™© √‚ΩB_.

(g)÷´‚Á¶© √]° Ô¬˛B_ xÁ≈.

(÷)x>_ W].

(~)Â¶©A ÿ√VÆ©AÔ^.

(c)º>F\V™ W].

(ª)∂¶¬ÔsÁÈ Ô¬˛B_.

(®)E¬Ô™ ÿÔV^x>_ ∂·°.

(∞)º\u ÿƒÈ°Ô^.

(n)®|©AÔ^.

(Œ)Ôıb¬z AÈ™VÔV ÿƒV›m.

({)g√›m ƒ´¬z ∂·°.

(Œ·)ÿ\V›> ÈV√D.
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